PART A

INSTRUCTIONS: Answer ALL questions.

QUESTION 1

Give FOUR (4) examples of numerical sequence connectors.

QUESTION 2

What are the two types of imperative statements?

QUESTION 3

Underline the ‘causes’ in each sentence.

a) Acids turn litmus paper red.

b) Excessive shouting may result in a sore throat.

c) The smell of carbon monoxide makes me sick.

d) The rotation of a compass needle is due to the earth’s magnetic field.

[ 4 marks]

[ 2 marks]

[ 2 marks ]

[ 2 marks ]

[ 2 marks ]

[ 2 marks ]



QUESTION 4

Identify and underline the topic sentence that best fits the passage below.

Prague is one of the most beautiful cities in the world. Its bridges, which cross the Vltava,
are especially famous. (Topic Sentence). It was built of stone in 1357 by
King Charles IV. It is one of the oldest bridges in Europe. The unusual haracteristic of this
bridge is that it is lined by thirty black statues, which were mostly added in the early 1700's.
The statues are of saints, kings, and famous people from the history of Czechoslovakia. As
you cross the bridge, you can pause and study each of the statues or have your picture

taken in front of one of them.

a) Tourists who come to Prague like to view Prague's bridges from Prague Castle.

b) The Charles Bridge, however, is Prague's most interesting and memorable bridge.

c) One of these bridges is the Charles Bridge.

[ 2 marks]
QUESTION 5
How is a mathematical concept different from a mathematical fact?

[ 4 marks]
QUESTION 6
Give an example a mathematical concept and a mathematical fact.

[ 4 marks]



QUESTION 7

Identify the ‘cause’ and ‘effect’ in the sentence below.

Owing to Data Compression methods used in mini-discs, loss of sound quality is inevitable.
[ 2 marks]

QUESTION 8

Construct a ‘cause and effect’ type of sentence.

[ 4 marks]

QUESTION 9

Name THREE (3) ways you can clarify and explain technical concepts to non-specialist

readers.

[ 6 marks]

QUESTION 10

Give an example of exemplication as a technique to explain technical concepts to non-

specialist readers in your area of study.
[ 4 marks]



PART B

INSTRUCTIONS: Answer THREE (3) questions only.

QUESTION 1

The bar graph below illustrates the estimated capacity of oil production for different leading

oil producing countries. Analyse the table and chart given below and answer the following

questions.
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The figures for the production of oil are in “Millions of barrels per day”
a) What is the average capacity of oil production of the countries in Table 1?7?
[ 2 marks]
b) Write FOUR (4) sentences to describe the statistical data in the table and chart.
[ 8 marks]
c) Nigeria is one of the major oil producing countries. Write TWO (2) sentences about
Nigeria based on the data given in the table and chart.
[ 4 marks]
d) Write THREE (3) sentences to compare oil production among the various countries in

the chart. You can use phrases like more than, less than or in comparison to.
[ 6 marks]

[Total : 20 marks ]




QUESTION 2

The notes below are on producing soap from scratch. However the steps are not in the right

order.

a) Provide the right sequence by reordering the numbers that accompany each step.
[ 6 marks]

b) Write the main idea (one sentence) for each step.
[ 14 marks]

[Total : 20 marks ]

General Instructions for producing Soap from scratch

1 | When both mixtures are at the right temperature, again put on your protective wear.
Pour your lye mixture into your oils. Stir until light trace, then add your fragrance.

2 | Then put on goggles, rubber gloves and face mask. Pour your water in a large glass
jar or another enamel or stainless steel pot. Weigh out your lye. While stirring the
water, add your lye carefully so it doesn't clump up on the bottom of the container.
Let it cool until it reaches 100 degrees F.

3 | After adding colour, the next step is to marble. Pour a layer of alternately color of
traced soap over the first layer and pull the back of a plastic spoon through the
soap.

4 | After that, to add color, mix either the powdered oxide or ultramarine powder with
some water or oil (according to the label directions). Add this mixture to 1 cup of
your traced soap. Add the colored soap back to your main pot of soap.

5 | Finally, pour into molds, cover with cardboard or wood and wrap in old towels to
insulate. Let set up for 24-48 hours before cutting. Then place your bars on another
shelf and allow to cure for three to four weeks prior to using. Turn over once during
the curing process.

6 | To begin with, weigh out and place your fats in a large enamel or stainless steel pot.
Do not use aluminum, tin, teflon or other coated pan or pot. They will react severely
with the Iye. Place on the stove between low and medium heat and warm up to 100
degrees F. (You can use a candy thermometer to test the temperatures.)




QUESTION 3

You are at a trade booth in an exhibition hall. You have to explain to customers the functions

of the parts of a printer.

With the help of the diagram and notes given below, write a120 — 150 word explanation on

the parts of a printer and their functions.

a) Paper support extension: Supports the loaded long paper.

b) Sheet feeder: Holds the blank paper and automatically feeds the paper during
printing.

c) Printer cover: Covers the printing mechanism. Open only when installing or replacing

ink cartridges.

d) Output tray: Receives the injected paper.

e) Output tray extension: Supports the injected paper.

[Total : 20 marks ]




QUESTION 4

The text below is written for a specialist reader. With the help of the circuit diagram of the
thermostat below, rewrite the text for a non-specialist reader. Your paragraph should be
between 120 — 150 words.
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The thermostat used a thermistor for the temperature sensor. This circuit can control an
outside system by driving a relay when the temperature of the thermistor becomes a setting
temperature. The strict temperature setting can not be done with this circuit like the
thermometer. The resistance value of the thermistor changes by the ambient temperature.
This circuit changes the change of the resistance value into the change of the voltage using
the transistor. Then, it compares that voltage and the voltage of the setting temperature
using the voltage comparator and it drives a relay. It is a relatively simple circuit. With this
circuit, the difficult point is to handle an analog signal (the temperature change). The
characteristic of the thermistor, the transistor and so on has an influence on the performance
of the equipment just as it is. Even if the thermistor or the transistor of the same name is

used, the same performance isn't sometimes gotten.

[Total : 20 marks ]




QUESTION 5

Discuss five of the seven strategies used in solving mathematical problems. Give examples
to illustrate your understanding.

[Total : 20 marks ]

THE QUESTION PAPER ENDS HERE



